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Getac_BC-03_Gain_FS_2570MHz_Cont15_Main (With Antenna) 
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Getac_BC-03_Gain_FS_2620MHz_Cont15_Main (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-18

0

-14

-10

-6

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

0

-14

-10

-6

X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

0

-14

-10

-6

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_2655MHz_Cont15_Main (With Antenna) 
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Getac_BC-03_Gain_FS_2690MHz_Cont15_Main (With Antenna) 
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Getac_BC-03_Gain_FS_3300MHz_Cont15_Main (With Antenna) 
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Getac_BC-03_Gain_FS_3400MHz_Cont15_Main (With Antenna) 
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Getac_BC-03_Gain_FS_3500MHz_Cont15_Main (With Antenna) 
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Getac_BC-03_Gain_FS_3600MHz_Cont15_Main (With Antenna) 
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Getac_BC-03_Gain_FS_3700MHz_Cont15_Main (With Antenna) 
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Getac_BC-03_Gain_FS_3800MHz_Cont15_Main (With Antenna) 
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Getac_BC-03_Gain_FS_704MHz_Cont15_Aux (With Antenna) 
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Getac_BC-03_Gain_FS_710MHz_Cont15_Aux (With Antenna) 
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